Metacat - Bug #1368

If a document's revision is 0, it couldn't be replicated
03/15/2004 11:23 AM - Jing Tao

Status: Resolved Start date: 03/15/2004
Priority: Normal Due date:

Assignee: dJing Tao % Done: 0%
Category: metacat Estimated time: 0.00 hour
Target version: Postpone Spent time: 0.00 hour
Bugzilla-ld: 1368

Description

If a document's revision is 0 in host A, it can't be replicated to host B. This
is because we decided revision number should start at 1. But in knb-lter-gce,
the documents start revision number from error. We should fix the bug.

History

#1 - 03/15/2004 02:23 PM - Jing Tao

In Documentimpl class, the constrain for revision in replication was changed.
Revision = 0 is allowed now. So any revision number which is greater and equals
0 can be replicated.

#2 - 03/27/2013 02:17 PM - Redmine Admin
Original Bugzilla ID was 1368
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